
Величины
Длина



Удав = 38 попугаев
Удав = 5 мартышек
Удав = 2 слоненка





семь пядей во 
лбу

косая сажень в плечах

сам с ноготок, а борода с 
локоток

очень умный

очень длинная 
борода

рослый,  
плечистый





Длина.   Дециметр.
1 дм = 10 см
10 см = 1 дм 





Стр.93, №25

3 дм =     см
40 см =      дм 
6 дм 2 см =     см
24 см=      дм    см
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№26
5 см           дм 4 см
9 дм    см      9 дм 2 см
    дм 9 см     1дм 3 см
4 дм 2см      8 дм    см



№ 28 

4 дм 5 см +1дм 2 см =     дм     см
        3дм

30 см+ 5 дм 4 см =       дм        см

75

48



№ 30

20 см = 2 дм
5 дм – 2 дм = 3 дм
Ответ: 3 дм толщина льда.



№31


